[image: image1.png]procedure MergeSort(L[0:n ~ 1), low, high) recursive
Input:  L[0:n - 1] (an array of n list elements)
low, high (indices of L[0:n ~ 1])
Output: Llow high) (subarray sorted in nondecreasing order)
if low < high then
mid « |(low + high)/2|
MergeSort(L[0:n ~ 1), low, mid)
MergeSort(L[0:n ~ 1], mid+1, high)
Merge(L[0:n ~ 1), low, mid, high)
endif
end MergeSort




Look at another pseudocode below:

[image: image2.png]procedure Merge(L(0:n - 1], low, x, high)
Input:  L[0:n - 1] (an array of n list elements),
low, x, high (indices of array L[0:n — 1]; sublists L low:x], L[x+1:high) are
assumed to be sorted in nondecreasing order)
Output: L[low:high] (sublist sorted in nondecreasing order)
CurPos] « low //intialize pointers
CurPos2 «x + 1
Counter « low
while CurPos| < x .and. CurPos2 < high do //while elements remain
if L[CurPos]] < L[CurPos2) then //10 be witten in both
TemplCounter] « L[CurPos1) //sublists, merge to Temp
CurPos] « CurPos] + 1
else
Temp|Counter] « L[CurPos2)
CurPos2 « CurPos2 + 1
endif




[image: image3.png]Counter « Counter + 1
endwhile
if CurPos] > x then
for k « CurPos2 to high do
Temp|{Counter] « L[K]
Counter « Counter + 1
endfor
else
for k « CurPos| to x do
TemplCounter] « L[K]
Counter « Counter + 1
endfor
endif

for k « low to high do
LK « Temp(k]
endfor

end Merge

//copy remaining elements
//in appropriate sublist //to Temp

//copy Templlow:high] to Lljow:high)




